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Pre-Calculus Honors Ms. Hindal

Unit 1 and 3 Review Review Day 4
Do Now:
1. Does the following converge: ' 3. What is the domain of f(x) = (x + 2)/(x2 - 9)?
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Name
1. (1.5) Regression:
An individual’s income varjes with his or he

_ r age. The following table shows the median income of individuals of
different age groups within the United States.
Average Age Income
20 $28810
30 $48230
40 $59696
50 $67830
60 $53508
70 $26126

a) Create a scatter plot of this data, What type of parent function might make sense for the regression based on the
shape of the data and why? S

vare Ponchomt (quadvatre VegresIv | —5 ks
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b) Construct your suggested regression and'w{‘lg‘tr: tﬁe equgg:‘r;, xﬂmn%g?g?hﬂe nearest whole number: &l Puabbh
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¢) Intermsofthe probl\im, what would the pf your model represent? \, =0

e age, X, Whih you were expetied tp Wul:e#Omohe\/, \/ )
Construct a linear regression and write the equation, rounding to the nearest whole numbe

= 20x +dp, 010

€) Does your regression or the lidear regression make more sense and why?
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ON XATer plot “beter
A portion of the graph of the function flx) is shown in the xy - plane. Selected values of a linear function g(x) are shown in
the table. The equation for h(x)is h(x) = 3x/(x - 2).
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2. (1.1) Function notation: fill in the blank with <, >, or = for the following comparisons

a f5-fl) 5 gz B-l 2z () —(-5) -l
5-2 e 5-2 €-2 " 3 s-2 - =
b. g3) _<& h(3) 3(,:) lineaw T? lohwseen —Sand | pywen « o
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3. (1.3) Properties of functions: fill in the blank with <, >, or = for the following comparisons

i < Maxi the interval -5 < x 5 §
a. Maximum value of f{x) on the interval -5 sx <5 __ 4~ Maximum vﬁ:;)tf' i{i).(:il _; interv
b. The y-coordinate of the y-intercept of f{x) __?_’_ The y-coordinate of the y-intercept of g(x)
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d, ither? How do you know?
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Homework: Study!!



